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Section A

Option A — Homer

Extract 1

1.

(a)

(b)

(c)
(d)

Homer, Odyssey 22.260-280

Award [3] if the meaning has been fully communicated, and vocabulary and grammar are
rendered correctly. Award [2] if the meaning has been partially communicated, and
vocabulary and grammar are rendered adequately despite inaccuracies. Award [1] if the
meaning has not been communicated adequately, and vocabulary and grammar are not
rendered adequately. Award [0] if the work does not reach a standard described by the
descriptors above.

The (rest of the) suitors retreat (uvnotijpeg 8" avexwpnoav) [1]. Odysseus and his men leap
forward (tol 8’ ap’ émi€av) [1] and retrieve their spears (€yxe’ €Aovto) [1].

Mark only for length of syllables. Award [1] per line if all correct; [0] otherwise.

Telemachus was wounded on the hand at the wrist (xelp’ £émtl kapm®) [1]; Eumaios was
wounded on the shoulder (wpov) [1].

Total: [10]

Option A — Homer

Extract 2

2.

(@)

(b)

(c)

Homer, Odyssey 19.203-219

He had pity in his heart (Bup® pev éAéaipe) [1] but maintained his composure (6¢@8aApol &’
g€otaocav év BAeapoiol) / he hid his emotions/tears (8akpua kebbev) [1].

Award [1] each up to [2] for any of the following answers: what he was wearing (ommot’
dooa epl xpol elpata); what kind of man he was (atdg 0’ otog énv): who his companions
were (£taipoug, ol ol £TOVTO).

Homer portrays Penelope’s sorrow through a variety of stylistic features.

Accept a range of substantiated answers, awarding [1] each up to [4] for any point
supporting the argument_and up to [2] for the coherence and clarity of the argument: [2] if
very coherent and well argued; [1] if coherent and well argued; [0] if incoherent and poorly
argued or if no details from the text are given. Points, which must address the question, may
be taken from anywhere in the extract. They may include:

e simile: w¢ 8¢ YLV KATATNKET .

parallelism: pée Sakpua, THKETO &€ XPWS.

monosyllabic line end: xpwg.

repetition of tk* and ddaxp*.

juxtaposition of Odysseus’s apparent absence and actual presence: kAalovong £0v
avépa mapnpevov. avtap ‘0dvocelg.

e variety of diction indicating grief: ddkpua, yodwoav, kAatovong, §dkpu xeovong.

Total: [10]



-4 - M23/2/GREEK/HP2/ENG/TZ0/XX/M

Option B — History

Extract 3

3.

(a)

(b)

(c)

(d)

Thucydides, The Peloponnesian War 7.73-74

The soldiers could pack the most useful things (Svokevdoatvto xpnopwtata) [1]; leave
behind everything (ta pév dAAa mavta kataAlmeiv) [1]; except what was needed for survival
(dvadafovteg & avTa Ooa EPL TO o®pa Emitndeta) [1].

Award [3] if the meaning has been fully communicated, and vocabulary and grammar are
rendered correctly. Award [2] if the meaning has been communicated, and vocabulary and
grammar are rendered adequately despite inaccuracies. Award [1] if the meaning has not
been communicated adequately, and vocabulary and grammar are not rendered adequately.
Award [0] if the work does not reach a standard described by the descriptors above.

So that they might stop the Athenians (®b¢ kwAvcovteg) [1]; where it seemed best (1] £66kel)

[11.

They burned some (évémpnoav 0Aiyag) [1]; and took the rest (to town) (&mo toU aiyladod
a@eNkov | Ekdotnv dvadnodpevot Ekoulov) [1].

Total: [10]

Option B — History

Extract 4

4,

(@)

(b)

(c)

Thucydides, The Peloponnesian War 6.47—48

They would require the Egestans to outfit 60 ships (Tais é€kovta vavoiv S186val Tpo@nv)
[1]; and settle the dispute (with the Selinuntines) (StaAAdEat avtois) [1].

If they could aid the Leontines (fj Aovtivoug olol Te Gotv weAfjoat) [1] or subvert other
cities (f] T®V GAAwV Tva TOAEwV TTpooayayéabatl) [1].

Thucydides emphasizes Athenian power through various stylistic features.

Accept a range of substantiated answers, awarding [1] each up to [4] for any point
supporting the argument_and up to [2] for the coherence and clarity of the argument: [2] if
very coherent and well argued; [1] if coherent and well argued; [0] if incoherent and poorly
argued or if no details from the text are given. Points, which must address the question, may
be taken from anywhere in the extract. They may include:

e juxtaposition of the strength of Athens and the force of its support for allies: émdei§avrag
pev v Suvau Tijg ABnvaiwv moAews, SnAwoavtag & TNV £¢ ToUG @iAovug Kal
Suppayovg TpoBupiav.

e hendiadys: aioxp®¢ kal ATPAKTOUG.

¢ parallel structures with variation: ot pév ’Eyeotaioig upfalvwoty, ot §& Asovtivoug Edot
KOTOLKICELV.

e tricolon: émknpukeveoOal ... mewpaobat ... 8¢ @pidovg molelobaL

o contrast: 1) Bla 1} SuuPaocet.

Total: [10]
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Option C — Tragedy

Extract 5

5.

(a)

(b)

(c)

(d)

Sophocles, Philoctetes 865-888

Award [3] if the meaning has been fully communicated, and vocabulary and grammar are
rendered correctly. Award [2] if the meaning has been communicated, and vocabulary and
grammar are rendered adequately despite inaccuracies. Award [1] if the meaning has not
been communicated adequately, and vocabulary and grammar are not rendered adequately.
Award [0] if the work does not reach a standard described by the descriptors above.

Award [1] up to [2] for any of the following: that Neoptolemus would endure his pain with pity
(TAfjvai o’ éAetv@®g); remain at his side (petvat); and help him (uvw@eAobvta pot)

to lift him ()’ acTtdG &pov) [1]; and set him on his feet (o pe katdotnoov) [1]; so that they
may leave (the cave and sail away) (0puwued’ / und’ émioywpev to TAeW) [1].

to get up himself (aipe cavtév) [1]; or to be carried (oioovsi o’ 0iSe) [1].

Total: [10]

Option C — Tragedy

Extract 6

6.

(a)
(b)

(c)

Sophocles, Ajax 101-130

Mark only for length of syllables. Award [1] per line if all correct; [0] otherwise.

Odysseus will be bound to a pillar (6eB¢ig mpog kiov’) [1]; and whipped (until dead) (paotiyt
TPOTOV VOTA @olvixOeig) [1].

Sophocles highlights Athena’s deception through word choice and stylistic features.

Accept a range of substantiated answers, awarding [1] each up to [4] for any point

supporting the argument_and up to [2] for the coherence and clarity of the argument: [2] if

very coherent and well argued; [1] if coherent and well argued; [0] if incoherent and poorly

argued or if no details from the text are given. Points, which must address the question, may

be taken from anywhere in the extract. They may include:

e repetition (Ttpiv &v) highlights Athena’s superior knowledge.

e irony (un 8fita TOV SVoTMVOV 8¢ Y’ aikion) emphasizes the trap Athena has set for
Ajax.

o alliteration (eg xp® xepl) emphasizes the cruelty of reversal.

e contrast between Athena’s treatment of Odysseus and Ajax (eg ToUg 8¢ cw@povag Beol
@uodol kal otuyolol Toug kakoVUG) emphasizes her power to harm.

e metaphor (Gt ovykatélevktat kaki]) highlights Ajax’s delusion.

Total: [10]
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Option E— Women

Extract 7

7.

(a)

(b)

(c)
(d)

Euripides, Iphigenia at Aulis 1391-1415

It is not necessary that he fight for the sake of a woman (00 6€1 TOvSe 51 paxnG LOAEY
yuvaikog €ivek’) [1]; nor die (008 katOavelv) [1]; one man is worth more than a thousand
women, or similar (elg Yy’ avnp kpeloowv yuvaik®v pupiwv) [1].

Award [3] if the meaning has been fully communicated, and vocabulary and grammar are
rendered correctly. Award [2] if the meaning has been communicated, and vocabulary and
grammar are rendered adequately despite inaccuracies. Award [1] if the meaning has not
been communicated adequately, and vocabulary and grammar are not rendered adequately.
Award [0] if the work does not reach a standard described by the descriptors above.

Mark only for length of syllables. Award [1] per line if all correct; [0] otherwise.

He desires her more (as a bride) (m60og p’ éoépyetan) [1]; he grieves (at the thought
of her death) (GyBopai) [1]. Accept other reasonable answers supported by Greek
quotations.

Total: [10]

Option E— Women

Extract 8

8.

(a)

(b)

(c)

Euripides, Medea 267-291

She must take both children (AafBoboav Siood ovv ocavti] Tékva) [1] and leave immediately
(kai un L péAAew) [1].

Award [1] each up to [2] for any of the following answers: She is a clever woman (co@n));
she is capable of evil deeds (kak®v TOAA®V {6pLg); who has been mistreated (AuTri

€0TEPNEVT).

Euripides represents Medea’s cleverness and power through word choice and stylistic
features. Accept a range of substantiated answers, awarding [1] each up to [4] for any point
supporting the argument and up to [2] for the coherence and clarity of the argument: [2] if very
coherent and well argued; [1] if coherent and well argued; [0] if incoherent and poorly argued
or if no details from the text are given. Points, which must address the question, may be taken
from anywhere in the extract. They may include:

e diction (eg dviikeotov kakdv) highlights the power of Medea’s actions.

e tricolon (Tov 0vta kal ynuavta kal yapovpévnv) highlights the reach of her power.

e alliteration of mplv maBelv @uAdagopat highlights the threat she poses.

e word placement in metrical line (co@n) ... (6pig) emphasizes her cleverness.

e enjambment (6pdaoewv Tu) highlights her ability to fulfil plans.

e vivid language (o€ yaiag Teppuovwy €Ew BaAw) highlights the threat she represents.

Total: [10]
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Option G — Barbarians

Extract 9

9.

(a)

(b)

(c)

(d)

Herodotus, The Histories 2.43

The name came from Egypt to Greece ("EAAnveg pdAdov ap’ Atyvmtiov) [1]; and
specifically to those Greeks who say Herakles is the son of Amphitryon (EAAfjvwv oUtol ot
Bepevol Td Appitpvwvog yovw) [1]; the name did not come from Greece to Egypt, it came
from Egypt to Greece (oV map’ EAAvwv Atyvmtion) [1].

The parents are Egyptian by descent (Ap@itpvwv kal AAKpnvn yeyovoteg T avekabev A’
AiyVmtov) [1] the Egyptians do not know Poseidon or the Dioscuri (AtyOmtiol oUte
[Tooeldéwvog oUte AlooKoUpwVv TA ovvopata @act eidévatl) [1].

Award [3] if the meaning has been fully communicated, and vocabulary and grammar are
rendered correctly. Award [2] if the meaning has been communicated, and vocabulary and
grammar are rendered adequately despite inaccuracies. Award [1] if the meaning has not
been communicated adequately, and vocabulary and grammar are not rendered adequately.
Award [0] if the work does not reach a standard described by the descriptors above.

17,000 years (£tea €0Tl emTakloyAla kal popla) [1] before the reign of Amasis (¢ "Apactv
Baowevoavta) [1].

Total: [10]

Option G — Barbarians

Extract 10

10.

(@)
(b)

(c)

Euripides, Medea 446—-464
Mark only for length of syllables. Award [1] per line if all correct, [0] otherwise.

Award [1] up to [2] for any of the following: By patiently enduring (koV@wg @epovion); the
wishes of those in power (kpelooovwv BovAevpata); and not saying rash things (Adywv
HaTAlwV).

Euripides represents Jason’s perspective by means of a variety of stylistic features. Accept a

range of substantiated answers, awarding [1] each up to [4] for any point supporting the

argument_and up to [2] for the coherence and clarity of the argument: [2] if very coherent and

well argued; [1] if coherent and well argued:; [0] if incoherent and poorly argued or if no

details from the text are given. Points, which must address the question, may be taken from

anywhere in the extract. They may include:

o Juxtaposition of first and second person (eg kapol pEv oVSEV TPaypA- pn TTavon)
highlights Jason’s reaction to Medea’s choices/actions.

e Repetition such as Tupavvoug highlights Jason's proximity to power as his point of
reference for action.

o Parallel structures unt’ dyxprwv oLV TEKVOLOLY EKTIEOTIG T’ €VEENG TOL emphasize
Jason's understanding of his actions.

e Parallelism (tpayeiav 6pynv wg aunyavov kakov) highlights Jason's point of view on
matters.

e Juxtaposition of Jason's and Medea's emotions (eg kal yap €l oV pe oTUYELG, 0VK Qv
Suvaiunv ool kak®d¢ @povely Tote) emphasizes Jason's perceived independence.

Total: [10]
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Section B

Instructions
Section B is assessed by the assessment criteria found below and published in the subject guide.

Criterion A (Range of evidence) assesses to what extent the evidence represents both prescribed

passages and supplementary reading. A candidate is expected to:

¢ use relevant examples from the prescribed passages to support the response (candidates are not
expected to provide exact quotes)

o demonstrate knowledge of historical, political and cultural contexts beyond those embedded in the
prescribed passages.

Criterion B (Understanding and argument) assesses how well the response demonstrates understanding
of the chosen option. Ideally, a candidate will:
¢ build a critical analysis that responds directly to the prompt in a clear, logical and imaginative way
o fully address the contexts and background knowledge pertinent to the examples related to the chosen
option.
Total: [12]

Criterion A: Range of evidence
¢ To what extent does the evidence represent both prescribed passages and supplementary reading?

Marks Level descriptor

0 The work does not reach a standard described by the descriptors below.

1 The response includes weak evidence from the prescribed passages only.

2 The response includes specific evidence from the prescribed passages only.

3 The response includes evidence from both the prescribed passages and
supplementary reading.

4 The response includes specific evidence from both the prescribed passages
and supplementary reading.
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Criterion B: Understanding and argument
How well does the response demonstrate understanding of the chosen option?
How well is the argument constructed?

Marks

Level descriptor

0

The work does not reach a standard described by the descriptors below.

1-2

The response demonstrates a limited understanding of the chosen option
without addressing contexts and background knowledge pertinent to the
examples.

The argument has limited focus, coherence and development.

3-4

The response demonstrates limited understanding of the contexts and
background knowledge pertinent to the chosen examples.
The argument has focus but has limited coherence and is not developed.

The response demonstrates an understanding of the chosen option by
addressing contexts and background knowledge pertinent to the examples in a
limited way.

The argument has focus and coherence but is not developed.

The response demonstrates an understanding of the chosen option by
addressing contexts and background knowledge pertinent to the examples.
The argument has focus and coherence, and is developed.




